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MORE THEORETICAL PROBABILITY
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Theoretical Probability Formula: /{@Vfﬂ;{) =

To calculate the theoretical probability, all outcomes must be EQUALLY LIKELY. What does this mean?
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WAYS TO REPRESENT PROBABILITY OUTCOMES

TREE DIAGRAMS are one way of representing 205S /é/f probability outcomes.

Draw a quick tree diagram for tossing a coin twice. What are the possible outcomes?
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Another way to represent possible outcomes is to use a TABLE

EXAMPLE 11

Mare, Jenny, and Otto have each won a t-shirt from West49 at a store Grand Opening event. Each
shirt will be randomly assigned to the three winners; one is red, one is black, and one is green.
What is the probability that Marc will receive the black t-shirt?

Use R, B, and G to represent the colours of the t-shirts. Marc Jenny Otto

B G R

In the table, record all the different possible ways the B 74 &
t-shirts can be given to the three people. U B =
y K B G

a) In how many different ways can the three = =

t-shirts be distributed? (0 ‘“”’ : B
= G B

b) In how many of these arrangements does Marc receive the black t-shirt? Q

c) What is the probability that Marc will receive the black t-shirt?
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EXAMPLE 21
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What is the probability of rolling DOUBLES with a PAIR of dice? Complete the table below showing

all possible outcomes.

a) In how many ways can the
two dice be rolled (how
many possible outcomes)?

3

b) In how many ways can doubles

be rolled? CD

c) What is the probability of
rolling doubles?

EXAMPLE 3 ?

Complete the table below showing all possible outcomes for the SUM of two dice.

# on First Die
1 2 3 4 5 6
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# on First Die
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